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4.24 (Continue)

d)

€

(1) Since x(f) is odd, Re{X (j@)} =0 I/l —
(2) Since x(1) is odd, Im{X (jw)} 0 !

(3) Since x(7) exists only between —2 and 2 and is odd, it’s not possible to make it
even by shifting x(7).

(4) Since (0)=0, [ X(jw)dw=0
(5) Since x'(0)=1/220, [  wX(jo)do+0
(6) Since x(1) is not discrete, X (j@) is not periodic.

(1) Since x(1) is even, Rt{.\’ (jm)} #0 x(r)=e "
(2) Since x(7) is even, Im{ X (j@)} =0
(3) Since x(7) is already even, no need to shift (&= 0).

@) Since x(0)#0, [  X(jo)dw=0 i
(5) Since %x(r)t‘u = %e"’”[.o = -te"x"Lo =0, Ea)):’(ja))da) =0

(6) Since x(7) is not discrete, X (@) is not periodic.

x(1)= et
(1) Since x(r) is even, Rc{X ( j@)} #0

(2) Since x(1) is even, Im | X (jo)} =0 /\/\
(3) Since x(r) is already even, no need to shift (z=0). :
(4) Since x(0)=0, [ X (jo)dw=0

d

Er’e"lﬁﬂ =(2re" —re™ )Lo =0

(5) Fort=0, -:Tx(r)L =

d d ,,
<0, —x(1)| =—t
For 1 d:x( )l ok

a0 !

= (26" + 1% )|'_0 =0

r=0

Therfore, -‘%x(r)L =0, and EmX(jw)dco= 0

0
(6) Since x(7) is not discrete, X (j@) is nor periodic.

7 4
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